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Problem Set #15 - Electron Configuration

1. When the following orbitals are full, how many electrons are in each?

a.zsA
b.3p U

of Zn

Date:

c. 6f

d. 3d

e. 5p

Z. Given only the last orbital in the ground-state electron configuration, identify which element(s) each

a. 3p'

b. 5s1

c. 3d1o

d ?n5

3. Write the electron configuration, orbital notation and Lewis electron dot notation for the following

elements (do not use short-hand):
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4. Which element is represented by ihe configurations below?

a. [Ar] 4s23ds ].I O

b. Ls22s22p63s23p64s23d1

c. [Rn] 7s25f146d5

d. [Xe] 6s2

e. [xe] 6s24f145de

Cr
sh

5. Are all of the configurations in question 4 correct? lf not, which one{s} are not and what should itlihey

be? 
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